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Questionl:-Which of the following statements about Sahodaran Ayyappan is/are
correct?

(i) In 1933, Ayyappan started a news paper called 'Velakkaran'

(ii) He became a member of Cochin Prajamandal.

(iii) He fully supported Hindu Mahamandal formed by Manath Padmanabhan and R.
Sankar.

(iv) He took initiative to begin 'Yuktivadi' journal along with K. Rama Varma
Thampan

A:-Only (i), (i) and (iii)
B:-Only (ii), (iii) and (iv)
C:-Only (i), (ii) and (iv)
D:-Only (iii) and (iv)
Correct Answer:- Option-C
Question2:-Which of the following is not a book of Vagbhadananda?
A:-Sivayogavilasam
B:-Abhinavakeralam
C:-Atmavidyakahalam
D:-Darsanamala
Correct Answer:- Option-D

Question3:-Match the following statements and years about Poikayil Appachan.
Which of the following option is correct?

Statements Year
(a) Appachan joined in Sadhujana paripalana Sangam of Ayyankali in (1) 1909
(b) He started PRDS in (2) 1921
(c) He was nominated to Sreemulam Prajasabha in (3) 1907

A:-(a)-(1), (b)-(2), (c)-(3)
B:-(a)-(3), (b)-(1), (c)-(2)
C:-(a)-(2), (b)-(1), (c)-(3)
D:-(a)-(1), (b)-(3), (c)-(2)
Correct Answer:- Option-B

Question4:-Which of the following statements about Swadeshabhimani
Ramakrishna Pillai is/are correct?



(i) He was the editor of news papers, Kerala Darpanam and Malayali.

(ii) Ramakrishna Pillai severely attacked the autocratic policies of the Dewan
P-Rajagopalachari.

(iii)He was elected without contest to Sri Mulam popular Assembly in 1910.

A:-Only (i)

B:-Only (ii)

C:-Only (iii)

D:-All three statements are correct
Correct Answer:- Option-D

Question5:-Who wrote the famous pamphlet, 'Travancore for the Travancoreans' in
the context of Malayali memorial?

A:-Dr. Palpu

B:-Barrister G.P. Pillai

C:-Mannathu Padmanabhan
D:-Swadesabhimani Ramakrishna Pillai
Correct Answer:- Option-B

Question6:-Match the following leaders of Indian Freedom movement and their
books. Which is the correct answer?

Leaders Books
(a) Aurobindo Ghosh (i) Bhagavadgita Rahasya
(b) Subas Chandra Bose (ii) Glimpses of World History
(c) Bal Gangadhar Tilak (iii) The Life Divine
(d) Jawaharlal Nehru (iv)The Indian Struggle

A:-(a)-(i), (b)-(iv), (c)-(iii), (d)-(ii)
B:-(a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)
C:-(a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
D:-(a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)
Correct Answer:- Option-B

Question7:-Consider the following events in Indian Freedom Movement and
Chrnonologically arrange them. Which is the correct - chronologically arranged
option?
(i) The cripps mission
(ii) The INA captured Imphal and Kohima
(iii) The August offer
(iv) The Quit India Movement
A:-(i), (iii), (ii), (iv)
B:-(i), (ii), (iv), (iii)
C:-(iii), (ii), (i), (iv)
D:-(iii), (i), (iv), (ii)
Correct Answer:- Option-D

Question8:-A notable episode which attractd the attention of the whole country in



connection with the Indian Freedom struggle was the arrest and trial of Mrs. L.S.
Prabhu of Tellicherry. This incident is associated with

A:-Quit India movement
B:-Civil Disobedience movement
C:-Malabar Rebellion
D:-Communist movement
Correct Answer:- Option-B
Question9:-The Revolutionary Lala Har Dayal is associated with
A:-H.S.R.A
B:-Alipore conspiracy case
C:-Ghadar party
D:-Lahore conspiracy case
Correct Answer:- Option-C
Question10:-The second President of Indian National Congress is
A:-Badruddin Tyabji
B:-George Yule
C:-Dadabhai Naoroji
D:-Annie Besant
Correct Answer:- Option-C

Question11:-Which is the indigenous beyond visual range air-to-air missile
(BVRAAM) successfully conducted flight test recently by DRDO and IAF?

A:-Agni - V

B:-Brahmos

C:-Nag

D:-Astra

Correct Answer:- Option-D

Question12:-Which National Park in Kerala has emerged as the highest-scoring
individual protected area in the Management Effectiveness Evaluation carried out
by the Union Ministry of Environment, Forest and Climate change for 2020-20257

A:-Silent Valley
B:-Eravikulam
C:-Mathikettan shola
D:-Anamudi Shola
Correct Answer:- Option-B
Questionl3:-Where is the famous hill station Mount Abu located?
A:-Rajasthan
B:-Himachal Pradesh



C:-Uttarakhand
D:-Meghalaya
Correct Answer:- Option-A
Questionl4:-Who is the present Chairman of ISRO?
A:-K. Sivan
B:-S. Somanath
C:-K. Radhakrishan
D:-V. Narayanan
Correct Answer:- Option-D

Question15:-Which constitutional Amedment added the term 'Secular' to the
preamble of the Indian constitution?

A:-44th Amendment
B:-42nd Amendment
C:-52nd Amendment
D:-36th Amendment
Correct Answer:- Option-B

Questionl16:-Regarding the implications of learning theories for Mathematics
teaching :
(i) Bruner's Enactive-lconic Symbolic modes suggest introducing abstract symbols
only after

concrete manipulatives
(ii) Vygotsky's ZPD implies group work should pair students with identical current
ability levels.
(iii) Piaget's Concrete Operational stage necessitates avoiding abstract algebraic
concepts

before adolescence.
Which of the above statements is/are correct?

A:-Only (i)

B:-Only (i) and (ii)

C:-Only (i) and (iii)

D:-All (i), (ii) and (iii)
Correct Answer:- Option-A

Questionl7:-Concerning Pedagogical Analysis in Mathematics :
(i) Its primary need is to ensure strict adherence to the textbook sequence.
(ii) A key principle is identifying prerequisite concepts for a new topic.
(iii) It significantly aids in anticipating student misconceptions
Which statements accurately reflect its Need/Principles?

A:-Only (ii)
B:-Only (ii) and (iii)



C:-Only (i) and (ii)
D:-All (i), (ii) and (iii)
Correct Answer:- Option-B

Question18:-About NCF 2005's influence on Mathematics curriculum :

(i) 1t emphasizes shifting focus from procedural fluency to memorization of
formulas.

(ii) It recommends connecting Mathematics to real-life situations and other
subjects.

(iii) it advocates reducing curriculum content to enable deeper understanding.
Which of the above align with NCF 2005 recommendations?

A:-Only (ii)

B:-Only (ii) and (iii)
C:-Only (i) and (iii)

D:-All (i), (ii) and (iii)
Correct Answer:- Option-B

Question19:-Regarding Continuous and Comprehensive Evaluation (CCE) in

Mathematics :

(i) It primarily aims to rank students for competitive examinations.

(ii) Formative assessment under CCE focuses on providing feedback for learning
improvements.

(iii) Diagnostic testing is an integral part for identifying specific learning gaps.

Which statements correctly describe CCE?

A:-Only (i)

B:-Only (ii)

C:-Only (ii) and (iii)

D:-All (i), (ii) and (iii)
Correct Answer:- Option-C

Question20:-On the principles of planning Mathematics instruction at the Secondary
level :
(i) Ausubel's Advance Organizers should be highly abstract concepts unfamiliar to
students.
(ii) Gardner's Ml Theory implies using diverse activities (e.qg. logical puzzles, spatial
diagrams,

real-would projects)
(iii) Addressing individual differences necessitates teaching exclusively through
individualized

worksheets.
Which principles are correctly interpreted?

A:-Only (i

(i

B:-Only (ii)

C:-Only (i) and (ii)
(

D:-Only (ii) and (iii)

)



Correct Answer:- Option-B
Question21:-ugg 2 miliLEeneTs ST 6(F SaTdSled GMDHSIE! ePeTm 2 ML ST
CSTERTL TEHSMEN 2 L SERTBIGET @) (H&S (Lplg WD ?

A:-120

B:-720

C:-968

D:-@aeupmlé ergiedlereney

Correct Answer:- Option-C
Question22:-'A' erenmp sewTsSlL 7 2 miLIL|GeT @(HHSTe, AG)e) CUEMTLIMI&HSETn Iq ULl
WgESdlw somer CsTLflb6d erdgHener 2 miLILs6T @(HEHEWD?

A:-7

B:-14

C:-49

D:-21

Correct Answer:- Option-A
Question23:-jx=%52 eremmmed , ;(2) GTEITGH ?

A:-2

B:-1

C:-1/2

D:-@aeupilé ergiedlereney

Correct Answer:- Option-B
Question24:-pHmis@& L UATsSHHELL Qe ulld, Damansg @Qe&smisEhLD @Il enL
CTETHETITS GU(THLD CTSHSENE GTEITSHET 2_GTETET !

A:-125

B:-120

C:-720

D:-@eupilé ergiedlereney

Correct Answer:- Option-D
Question25:-sin(15°)-@er &l eremmen?

A:-E2

B:-£4

2v2
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Correct Answer:- Option-A
Question26:-« O 5 Y FWen6 s2-4z+2=0 GTETD @)(HLIGF FLOGTLIML I 63T PLPEOMHIGET
(roots) erasflev, s+5 @ e L LIl eTevme?

A:-1

B:-2

C:-1/2

D:-@leaummled ergieyLsldbaney

Correct Answer:- Option-B
Question27:-e@m cul_Lgdlem LpliLeTe] 256 &HhHmeTene el @ FewT(h LOLBIE AHSHEH0NS
@mBSTED, SiHer el L LD creen?

A:-2

B:-4

Ci-ar

D:-8

Correct Answer:- Option-D
Question28:-10 1§ x 10 1§ X 5 15 yemeyerar e @ LIGHD veudsdHdnlq il OlELELIflw

siq W9 e eranan?
A:-14 \§
B:-15 i
C:-16 1§
D:-18 i

Correct Answer:- Option-B

Question29:-grap 1.5 15 2 wipb Qsmeawrouf 22 S 2 wiyaperer Camyysens 20.5 15
gMr&Hedl(mbHg LMs@GLEUTg g6 eFHms CaHmenTd cTeimen?

A:-15°

B:-30°

C:-45°

D:-@leaummdled eTgieyLsldbaney

Correct Answer:- Option-C



Question30:-5 Q&.15 Lds BeTd QETETL SeFHIT Ulgel OFS Fiewiqe(HHg Cleul L &gl

WasLCufw eul L o (Henerullerr Sem {6mey cTeumen ?
A:-37.27 Qg..fs
B:-24.54 Q&..5:

C:-34.72 Qg.15:

D:-@leaumdled ergieyLsldbaney
Correct Answer:- Option-D
Question31:-apyp ereir 'a’ eraig '1' @eir sRlwmrer eu@LGwns @) mbsTe, 'a’ @er

FMHSHWIDTET SHLIL|EET cTemen ?

A-0&1
B:-1
C:-1, -1

D:-@leaummdled ergieyLsldbaney

Correct Answer:- Option-C
Question32:-¢ eremigy) WL &ML $1000) @6 SILIL| cTeoTerr?

A:-1000

B:-500

C:-400

D:-200

Correct Answer:- Option-C
Question33:-YemeuHeuaTeuD D) eT&) o oLlLIFLOL cTEwT Hee0?

A:-3

B:-17

C:-257

D:-9

Correct Answer:- Option-D

Question34:-10z=3mear) ety Crflw emhSeangaien (Linear Congruence) &iey ereen?

A:-z=1(mod7)
B:-z=2(mod7)

C:-z=1(mod10)



D:-@leaummdled ergieyLsldbaney
Correct Answer:- Option-A
Question35:-a wHmib b <y Flwiemeu QUIC) ETERTSET DY @LD. a2-b? GTETLIE| (T LIGT GTEHTERTTS
QBBSTD, a2-p2=
A-a+ Db
B:-a-b
C:-ab
D:-1
Correct Answer:- Option-A
Question36:-4=[1 4] erafled sa2-4a+117 @07 SILIL] eT6tTENT?
Ai-242481
B:-0
C:i-3a24ur
D:-@leaummled ergieyLsldbaney
Correct Answer:- Option-A
Question37:-a=[**# %] erefled (27 (conjugate transpose) @ e L cresen?
AP 65
B:{5%
Ci-5 672
D:-@aeupilé ergiedlereney
Correct Answer:- Option-C
Question38:-4 ereniLigy e GlFBIGESSH et eTammmed |4l=
A:-0,1
B:-1, -1
C:-2, -2
D:-@aeupmlé ergiedlereney
Correct Answer:- Option-B

Question39:-Gargsiiul L Gl fldedlen sblgen wdl LiLsafler GLmEse WL crerer?
[$31]

A:-4

B:-12



C:-5
D:--12

Correct Answer:- Option-D
Question40:-Csrhssiiul L Gl fldedlen srourlens eremen?
133
31
A:-2
B:-3
C:-4

bt
BRI =
PN

D:-@aeumilé ergiedlereney

Correct Answer:- Option-C
Question41:-rt, . zsinl=7

A:-0

B:-1

Ci-

D:-auplbLy @évena

Correct Answer:- Option-B
Question42:-r., (=)

A:-1

B:-sthie

C:-ake

D:_(abc)é

Correct Answer:- Option-D

. b
Quest|0n43:-/vﬁim,?

sinz+vCosT

Correct Answer:- Option-B

11
Question44:- | [szgoqy ==
I

A:-1
B:-cos 1
C:-1-cosl

D:-1 + cos1



Correct Answer:- Option-C
Question45:-//e*(f”yz)dmy:?

A:-x

NS

ol

O 0w

[

T

Y

Correct Answer:- Option-B

Questi0n46:-w:$y+z;$ =cost,y=sint,z=t GFGUﬂQ)(C%) =7

t=0

A:-0
B:-1/2
C:-1
D:-2

Correct Answer:- Option-D

Question47:-x= GTEDI(HHSTED STEM ()= sn—a)  GTEND GUeTLIL SS M (Critical
points) @\m&@LH?

A:-0

B:-1

C:-0,1

D:-0, 4

Correct Answer:- Option-C

Question48:-y=3+sinz crattn eUNFLIL GFlem auanaralll LiaTaflger ermiCe?
A:-(0, 3)
B:-(33)
C:-(r3)
D:-(n)
Correct Answer:- Option-C
Question49:-jw=5 eremp cuanyUL Gl Cami@EGsg AM@GHwEeT ermiCs?
Ai-z=2
Bi-s=—2
Ci-z=x+2
D:i-y=2

Correct Answer:- Option-C

Question50:-s4-2+36u2=2304 Fa b6 N GSHlTGGHemenid (€ccentricity) eremen?
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Correct Answer:- Option-B

Question51:-v=—v7+5 Chiedm = -&F&HL 6T Fenswer o (HeursH@h CaHrenTd eremen?

Correct Answer:- Option-B

Question52:-4004) HMILD B250) eTenD LiaTatlsamer @enanmd@n Camlant B (Heuge epevLd
Quplinl L fengwefler Beord s p@Lb. YetalHouareuhiled @bs Hlenawieaen gnmser

GTeneU?

Correct Answer:- Option-C

Question53:-i=2-13 LHMID 7=(-72-) YEW Qe HNFWENSHEHES, 6Ths Slenswer
Cem@GESsTE 2 cTeng)?

A:-(-5, -2, -3)

B:-(-2, -5, -3)

C:-(-5,-19, -3)

D:-(-19, -5, -3)

Correct Answer:- Option-C
Question54:-i=acosii+asin7 ; 0<i<2r  oraD HanFwien FwemUT(H e(f BaTeul L Samnss
GM&dng. Qbs Baraul Lgdler Mygrer SiFsler cuamere, Siser (paeargamarts Cummss)
6TGOT60T ?

A:-1/9

B:-2/9

C:-3/9

D:-4/9



Correct Answer:- Option-B
Question55:-qm G156 e culL LI LitenGuiled BETS DG QbS GISET v=2costy=2sint GTEIM
Blepevanws '+ edlemmigsefled enLujb Cungl igenm Ceusld ereme?

A:-2 15U L j/eflenmig

B:-3 5L j/eSesrmig

C:-4 S L j/efermg

D:-5 S L j/eflermig
Correct Answer:- Option-A

Question56:-¢=v.a)=sv+vetsz eremm sngSlwibrer Fryker SHengFuie LjeuLd eTeomen?
A -(y+ 2T +H(z+2)T+y+2)E
B:-(z+2)T+(y+2)7 Hz+v)E
C:-(y-&-zﬁ-&-(x-&-z)}‘-i-(:c-i-y)fc‘
D:-(s+2)7+(z+y) T+ +2)k
Correct Answer:- Option-C
Question57:-F=zsi+35+22%  eTam GleUGSLITT Ljeold 6 Wafll sansgirssled o (meums @b

Qeuafliyms umiiey eresen?
A:-2 Sv@ser
B:-4 sjv@ser
C:-6 Siev@ser

D:-8 wiv@ser
Correct Answer:- Option-C

Question58:-2y_4& 4y—se2x  erenm Ceupmeniog e igen GHULAL L Qgrenasui(

dz?
GTGOTGHT ?
A: '%2825
B:-s202s
Ci-202e2
D:-452e20

Correct Answer:- Option-D

Question59:-eraflw &ymerm QUIGEEMSE GMEGD == Acos(ni+o) (An GTETLIENE LOMHE0SHET)



erarm FoerUmenl L1 upml Mememeuemeuhhled 6Tg) 2 GTenLDUIcL6?
Ai-Lzins=0  eremug) CoCev 2 6Ter FEmUML g6l eUang&0ls(p FoaTLIm(h
B:-@\bs Ferumiq e, euenss0lgE L) FoeTUml_iyer elflans 2
C:-@bg swemmigen edleneTeurs aU(hLD Uamss6lsp Fwearum( Crifluid obeorsg
D:-@aeupblé ergiedlereney
Correct Answer:- Option-C
Question60:-(z+1)% —y=cs(z+1? ETEMD CUMNSHEH0IGH(LY FLOGTLITL g 6T 6p(HBISnenTLIL|S STTewt
GTGOTGOT
Ai-z+1
B:-Z
Ci-(z41?

D:-—

(z-+1)?

Correct Answer:- Option-B
Question61:-{inen} eraim SETSSET 2 L LDSMSE SerL_Hlwe]|Ld.
A:-¢
B:-{0}
Ci-{14i...
D:-n
Correct Answer:- Option-A
Question62:-19emeumeusmeupmled {(nen) ererm samsHlen LUB erg)?
A
B:-
C:-2
D:-e
Correct Answer:- Option-A
Question63:-Yemeumeuameupiled ergl QT (penm (Sequence) @Gmlgs 2 arenouicen?
A:-{knen} eTam QSTLIAPEOD GTGTLIGI 62(1h Lpsduwl QST FLpenm
B:-{c0nen} eratm QSTLFpenm erevenavd@l ULl L Cam Sevag &elbsGCasm oieen
Ci-{Fnen) ey Csmijeperp GeilESGEGD

D:-{"mnen; eretm QEmLfpenm Couml L g jeden



Correct Answer:- Option-B

Question64:-CwrGearmCLer QsTLFpenn&eT CHTLTUTET Seupmer saHenn et Pliiab
A:-CorCermGLren QgL FLpennaeT HSHEFSEGD DG DU
B:-CurGeammGLrmer QsrLfipammaer @Galbsamel g CoumiLil L enal
C:-CurCermGLrren QgmT_FpenDma6T 2argam(hougl <66
D:-erévanavd@Lul L CorCGearmGLrer @eilbseneu
Correct Answer:- Option-C

Question65:- 1im (%)" Qe LIy ereimen?
A:-e
B:-
C:-o0
D:-v

Correct Answer:- Option-A

EE — s g
r+l1 g

7
=10 x=0
e =i
Question66:-

ererm gmyy [0, 1] @en_Geuefludler auenpumssiiLGEng i@ unm eralmelareudmled 6rg)

2 GWTENLD?
A:-io) smiY s=144. . eterp  Yematludley QemLf&fluing o drerg|
B:-s) &My s=4ib.... eterp  LaTeflgatiey ol HGWw Qg gsHunmg
C:-i@ gmiy s=4tb.. ereorp Yematsafley I HCw Cargsflumms

D:-i@ &miy s=14b.. ererm Yematlgefled GgmjeHlwmmag

Correct Answer:- Option-D
Question67:-: @eir wdlliewus QuTmSseuam Ml (meuarelDHPled 6T 2 TenLDUIcE?
A:-@)gl (pHdlepid Gl eresr
B:-@g (pHidled ShHLIenET 6T
C:-oizer UL . YGD

D:-©iger Sl e 2 pblene erar (transcendal number)



Correct Answer:- Option-B
Question68:-19emau(melemaupiled ¢ @6 @ LGS DTS 6Tg)?
A:-{zz—244 <1}
B:-[z;Re(z)>1}
C:-{z;0<arg(z)<%}
D:-{z;1<|z|<2}
Correct Answer:- Option-A
Question69:-Yemeumeuareudled LiGLLTLIG FTFenL SewTL_MlieyLd
A:-j=zzeC
B:-f2)=Re(z)zeC
C:'f(z):|zz|;z€43
D:-szy=e%zec
Correct Answer:- Option-D
Question70:-jm=rtszec erarm Hdsevmen wSlLiLjeaTer sment LHM 1G6meuHouemauDdlicd 6Tg)
D GRTENLD GTEITLINGS SerTL_Hlwe|Lb?
(i) 2nminez GTETLIG f2) @)GH 6(Th &I(THEULDT(GHLD
(iii) 1) @)em MG Gl(HEUBISEHLD 6Taflil &i(HEUMBIGZET G LD
(iii) 1 @em Gy eraflu giHeuDd Lgeluid <@L
A:-CoCe 2 6Tem aTSFID /) &, 2_TenLo
B:-(i) wpmid (ii) b HCw 2 arento
C:-(i) wpmd (i) L HGW 2 arenio
D:-(ii) wpmd (iii) I HCw 2 arenLo
Correct Answer:- Option-B

Question71:-anwws CungSlen eTHE DleTeneu gajleusertadl(HHg STeRTamD?
A:-uwesrpenm (mode)
B:-@enL_blenaw
C:-cranraentls symaf]

D:-auigeflwicy Fyma]

Correct Answer:- Option-B



Question72:-YemeumeuaeupMedlpbgl o8l ey SeugraflliLserme s SiHswors
undlasiu(HEmg?

A:-sreoran(h elegsea (quartile deviation)

B:-uiwer apevp (mode)

C:-gyman

D:-@leummled ergieyd undlasliLialldveney

Correct Answer:- Option-C
Question73:-3, 5, 2,10, 2, 4,7, 0, 1 o8l SjeusmalllLs@heE@ eThg FTres]
QuUmTBSTS?

A:-@enL_blenev

B:-gyman

C:-uwer (penm (Mode)

D:-anmjGonafls syrgf

Correct Answer:- Option-D
Question74:-eqm mupHm LsLeW erdlybCung) GUDLILIL L 6TET LIS 6T G0
BlEpey A eTammibd, FIo eTam @G0 Hlapey B erammid ienpdsiinil_Lme, [Yemeu(mib

gapmiseiled org) Fflwimeng)?

(i) 4anB=9

(i) (auvm’ =@
A:-(i) b (hd
B:-(ii) w_(hw

C:-(i) womid (ii) @reTHIb &

D:-(i) womid (ii) @rewr(hHbd Hoeum

Correct Answer:- Option-B
Question75:-g@m S H&sL ML (pPmLWLTES Sobs LUn@, @rar®h F(Hs6r SrHm
wperpuiled auenrwiLihdlermer. Seupmled e FLH ersabd (ACC) wHbpremm 2 (P
10 cuanyullenar eTpg eramenemrid Gl&memT S(HLIL| L emLWMSeb @) (HLLSDHESTe

Hl&EDS556, cTeomen?
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Correct Answer:- Option-A
Question76:-9emeupLd sapmiFeiicy erg Fflwmeng)?

A:-pP(anB)>P(4)

B:-P(4nB)> P(AUB)

C:-P(4nB)< P(4UB)

D:-p(B)<P(4nB)

Correct Answer:- Option-C

Question77:-96meu(pLd sadmisetch 6rg) Heummeng?
(i) PlauB)<P(4)+P(B)
(ii) P(anB)<P(4)+P(B)-1

A:-(i) LG
B:-(ii) wl_(Hbd
C:-(i) wpmid (ii) Qrear(Hb seupTaTenal

D:-(i) wpmid (ii) @rewr(Hbd Fflwrerenal

Correct Answer:- Option-B
Question78:-u@dlwerey flangpbs sreys CgrELler Lweripenn 20 WHMID GenL Hleane
25 oG cTasalls FFTE eTeen?

A:-27.5

B:-22.5

C:-23

D:-26

Correct Answer:- Option-A
Question79:-A wpmid B eremugy) e gam Geuefludiey o crem @rewr(h HlsLpe|ser.
P(4)=02,P(B)=03,P(4nB)=06 eTemmed Lemeal(mld sapmsefled erg sflwuimeng)/sflwnearene?
(i) Awpmid B ydlwienas Lipevuird ellevda Hlepeyser
(ii) A wpmib B <y fluiena &urrﬁ@‘rmrr@‘r (P(LPEMLOUITEDT (@a@maseﬁ

A:-(i) bpmid (ii) @Qrearr(Hb 2 earenLo



B:-(i) womid (ii) @remr(hHibd Seum
C:-(i) b HCw 2_arenip

D:-(ii) b_HCw 2_arenLo

Correct Answer:- Option-D
Question80:-ep(m &lymbgdled 2y amms@EhLd, ClLamTS @R FoWTs 2 drarery. Y amsailer 30%
wHmD Cuearsaiier 20% GCui yasliGig litieufsdr. &EHn papuid CaibblgHdEsiuL
QRHEUHSE LamsLlg&H@D, LSS @(HHSTed 26Ul e GlLiamTenms @) mLuUSnHaETe
Bl&LDS&H6| eTeren?

A:-0.6

B:-0.5

C:-0.45

D:-0.4

Correct Answer:- Option-D

Question81:-X erettm ep(p Fypm wrdullen flspsse) SLfsd iy

[ i
Fay=ike® ;x>0
0 wpp ader Lusdgs

erafléd, =(%) eTImmTE Grevment?

A:-1/4

B:-1

C:-1/2

D:-1/8

Correct Answer:- Option-B
Question82:-X @en flspsse) Lreied m@mitiy (10, 0.3) erafled, epemmmeug) @&edlliL
GTeaTenT ?

A:-6

B:-0.45

C:-0.84

D:-2.1

Correct Answer:- Option-C
Question83:-e(p MLl LFeuadler Fymafl 8 HMID THLIT(H 4 },@LD.
Yoo (mouemeuDdled eTg) Fflwimeng/sflwimereneu?

(i) Fsmaw LiTaue FTsHdHlwdleena



(i) @18 LTEU FLEET <Y GLD
(iissamasw Lreuadle, N = 18 <y @Lb
A:-(ii) wpmid (iii)
B:-(i) wl(hd
C:-(ii) v
D:-(iii) w_(Hwd
Correct Answer:- Option-C
Question84:-epm wLmgmen Lifeuadlen Hlenevuwimer allevdEe 2 <& @(mHSme el (HLd
gapmiseiled erg) Fflwmeng)/sflwmareanel?
(i) @By LiFeued ehepm rSfluimes @) ma @0
(i) @Bs Lureud @) LrHRuTE @@L
(iii) =ibs Lreuedler e LweTpenm 1 s @)(HEED
(iv) @ibs ureualen e(m Lwem (Panm 4 %5 @Q)(HEGLD
A-(i) o G
B:-(ii) wmmid (iii)
C:-(iii) wHmd (iv)
D:-(ii) womid (iv)
Correct Answer:- Option-D
Question85:-x; wHmDd X2 YHlwemeu (WPerpCw 3 LHMILD 4 6T |(HSSH6T ClamerTL
@irerr(h Lumigrer FrHm LIHGET @D, erefled emoHLd Fmpmisaiey 6rg

sfluneng/sflunerenou?

A:-x: @err mmiLT(H 9 @ LD
B:-x: Qe Bleneowimen eflewsed 4 @b
Ci-x1+X, @i HlsLps&6| LiTeUed H6mey(h 7 2 L 6T LITUIFTET 4GLd.

D:-CoGev 2_aTerm ppeitm Snhmis@hLd 2 arenLd @)eena)
Correct Answer:- Option-D

Question86:-X~N (s052) ereufle, lemeaumLd sapmsefled erg seummeng)?



A:-P(x <55)= 08413
B:-P(x>65)=0.0027
C:-m(x-50"=0
D:-rlx-s0 Compmuomss 4 =p,@LW0
Correct Answer:- Option-B
Question87:-X ~N (1022 erefled, 3X + 2 @l HHEAMTSMNG 2 (HEUTEHEGD SFTIL| 6T6T60?
A:- i
B:-co0rtsest
- e6012436¢3
D:- ceorsaos

Correct Answer:- Option-A
Question88:-(X, Y) erem @newr(h From wridlsefen Lpeusdled @HBHE eTHEsILIL L
Sjeugnaflliysetlier Cgm@LiL ae;@g Qasmhssliul (Herergl. (1, -2.5), (2, -5), (3, -7.5), (4,
-10), (5, -12.5) erefleb X wpmid Y §@ @evLwlenear QgrijLy @eansd (Correlation co-
efficient) ereimen?

A:-1

B:--0.9

C:--1

D:-@leaummled ergieyLsldbaney

Correct Answer:- Option-C

Question89:-X, Y erettpm @rewr(h Erpm wrlaErdE Qe uleorear QgL Geargd 0.5
<&, Seupbler @eenriormiim(hy (covariance) 8 eysa|b, X @ei wrmLm@h 16 <yseyb
@mBsTD, Y @6 Hlenawimer eflevge ereomen ?

A:-16

B:-4

C:-12

D:-8

Correct Answer:- Option-B

Question90:-X wpmid Y <Hlw @rewr(®h Ermm wrdlseaier sl B Blapsse LTSS Fmiy

. e
flx.3)=1

crarléd Llemeu(pLd sapmigetiey erg) FFlwmeg)/FRlwnerene?



(i) X wombd Y ydweaeu swnder Eom wmlEer.
(i) =)=} <YGLWD.
A:-(i) wopmid (i) @rewr(Hibd Fflwrerene
B:-(ii) w_(HCw sflwureng
C:-(i) b HCw FHlwreng
D:-(i) wpmid (ii) Grar®b Fflumaranel iee
Correct Answer:- Option-C
Question91:-CQurmgswnm Cserellssrermed eFHLBID Genp YenLp 4@ L.
A:-ordlfll Genwp
B:-orlfll e pser Sjdargama
C:-Gaaraflggmenerts QUIrMSS), <igl LIl e Sweg il e
SODTSHEMEU GTET QTETL TS @) (HESHELD
D:-wordlfll enpuyd Sjde, I Sjers eppuibd e
Correct Answer:- Option-A
Question92:-gm Ermm il Z @er FHewr 2 (Heurd@G eriy (Mgf) mym=0-207 2
oTadlléd Z @etr ommyLim(h erevtent?
A:-32
B:-16
C:-8
D:-@aeupble ergiedlereney
Correct Answer:- Option-A
Question93:-Yemeu(pd Fapmisatiey erg) FFlwneng)/Fflmemeno?
(i) F eremmugy erliCumgibd ¢ LWem(penmeniis Gl&TemTL (1 LIFeue)
(i) F-ugeueler Lwemperm riIGUNGID 1y L& @Gammeurs @)(HéE W0
A-(i) r_ Gib
B:-(ii) (b

C:-(i), (ii) @uewr(hLd



D:-@renr(h samis@hLd 2 arentd @eenad

Correct Answer:- Option-B
Question94:-0.5, 2.1, 1.3, 0.75, 3.8, 2.9, 1.3 gy flwenau «06) ureusiled @mpg FrHm
rdflsdr. o @er sl s Hlapssea| WHULEEH cremer?

A:-0

B:-1.3

C:-1.807

D:-3.8

Correct Answer:- Option-D

Question95:-em wEsETHSTMS HHSEe| LTSI FTiL

6e*,x>0,6>0

flx)=1
0, wpp avar Gusagid

2,3,1,6 Qb3 wasdr Ggreansuledmbg e From wrdflwurs @) mbsme, Gemel (Heueaeu D e
oTgl o @ei HHewt SIS g 6T (pevm?

A:-1/3

B:-3

C:-1

D:-Glaumdled ergieyLsldbaney

Correct Answer:- Option-A

Question96:-x,x, wHmID X: Ydwemeu M(xe) @QOHHg Qupliul’L ErHm wrdflwumELb.

5X 142X, 6X1-4X3 X1+ X9+X3
Tl = 7 :T2 = ) :T3 = 3

Cogyb Sjeneu » @ e epann W LS L TeTfsarm@Lb. erarfled emau(Hbd sapmsaticy g
SoUDTETG!/HeUDTerTene?
(i) @bs 7.7 LOHMLD s BFlw epemmid » er Unbiased estimates @b
(i) 71 &g &ML 7> Ws6eyd Hpenowimengy (efficient)
(iii)7: g AL 75 Bsa b Smenwinearg (efficient)
A:-(i) (b
B:-(ii) w (b
C:-(i) wpmid (ii)
D:-(iii) (b

Correct Answer:- Option-B



Question97:-gm Brewtwib afsiLBibCung e Smeamwll duneishsrear Hlspsse P!
oreiTy aneusSGISESTaTCounyid. mer=} VS mp=} & Gardlds prawvrwidl0 wpevm efsliil (b
RETLUSTEUF DG LUSSTaIG (PEM SE&HETL GlLHmTe, Ho &3 BlrmaflEsamd eremm)
Qamers. crafled QS sadHlen i(H&@E, eTemer?

A:-%

B »_410_13%39
. 410

. 9
C:-3

4

+_1013
71024

Correct Answer:- Option-C
Question98:-x,x:...x0w YFweneu N(ko?) LiFeueded @(HHS) ErHm LTS FS6T cTammeD,
YetTeu(mHLd FmpHmIsaied 618l Soummeg)?
(i) 7:%—:( T (1 LaTa elleurid <@L
(i) (4) ererigy e Lemert alleurid <y @W

A:-(ii) L (HLd

B:-(i) (b

C:-(i) womid (ii) @remHb SeumTeamane

D:-(i) wpmid (ii) @ rar®Hb 2 areno

Correct Answer:- Option-A
Question99:-x,.x,...xs ererigy N(0, 1) upeuadled @bl ErHm OTEFISET v=x7+x3+x3
eTaarmmev, E(U) ereven?

A:-0

B:-5

C:-6

D:-3

Correct Answer:- Option-D
Question100:-x,x;...Xa 6Tl 6(h GO L Blaspsse| Lifeuamal Waruhmid
&&GETOF Tl (BBHE FrHm LrSlfleer @b, SibS WwesaTtsTasuier grmafl 5 wHMILD
Blepewimen ellQse 2 W@ LD 6GTeNled P(X1+X ot +Xa>405) 08 SHeTs (HBIGET.

A:-1

B:-4

C:-0.5



D:-4
Correct Answer:- Option-C



